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Problem quickname: 9443

b

Fill in the missing numbers.

a) 26 + = 100 b) 67 +

d) 74 + = 500 e) 74+

g) b7 + = 500 h) 53 +

j) 95 + =100

2)

Fill in the missing numbers.

a) 752 + = 4000 b) 401 +
d) 889 + = 5000 e) 820 +
g) 733 + = 1000 h) 827 +
j) 292 + = 7000

3)

Fill in the missing numbers.

a) 7+ =40 b) 6 4

e) 3+ = 60 f) 2 4

i) 6 + = 80 j) o+

4)

Fill in the missing numbers.

a) 700 + = 1000 b) 600 +
d) 300 + = 8000 e) 200 +
g) 600 + = 1000 h) 600 +
j) 900 + = 5000

Good Luck!
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=500 )65+ =200
= 300 )24+ =700
=900 12+ =300
= 5000 ¢) 8234+  =1000
= 7000 f) 327+  =3000
= 5000 i) 453+ = 8000
=60 4+ =10 )8+ =30
g) 2+ h)4+ =30
= 8000 ¢) 4004+ = 3000
= 9000 £) 300 + = 4000
= 6000 i) 800+ = 8000
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